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2 (A)
#1)
X: Oh, no! They have sold out of water.
Y: Why don’t you buy a sports drink instead? They are very refreshing.
X: Yes, | agree, but it’s not for me. It’s for my dog.
Y: | see. Yes, | suppose it wouldn’t be very good for him.
X: I guess | shoud try to find a convenience store and buy some water there.
(59 words)

#2)
Y: What do you want to drink?
X: | haven’t decided yet, but do you know whose dog this is?
Y: No, but | recognize him.
X: You do?
Y: Yes, he's always waiting by this vending machine.
X: I wonder if he wants a drink.
Y: Maybe this is the last place he saw his master.
X: Oh, like Hachiko!
(53 words)

2 (B)

(1) | believe most people’s perceptions of a situation are heavily
influenced by their own opinions and moral standpoints and when they look at a
situation they tend to believe only what they want to believe. For example, if
something goes against their own values, they tend to want to see it only in a
very negative light and do not see its positive aspects.

(64 words)

(f12) Being able to physically see something is different from being able to
understand what you are seeing. Suppose there is a camouflaged chameleon on
a wall you are looking at, but you do not know it is there. It is in your field of



vision so you can physically “see” it, but because you think nothing is there, in
some sense you actually cannot “see” it at all.
(68 words)
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